ADDITIONAL STOICHIOMETRY PROBLEMS
1.  A compound containing only sulfur and oxygen is 50.0% sulfur by mass.  What is the empirical formula
     of the compound?

2. How many grams of potassium iodide are necessary to completely react with 20.61 g of mercury (II) 

    chloride?

3. Calculate the mass percent of each element in ferric acetate.

4.  How many grams of H2O will be formed when 32.0 g H2 is mixed with 32.0 g O2 and allowed to react
     and form water?  How many grams of excess reactant remain?  If 34.5 g of water was produced in a lab

     situation, what is the percent yield of water?

5.  Adipic acid is an organic compound composed of 49.31% C, 43.79% O, and the rest hydrogen.  If the 

     molar mass of adipic acid is 146.1 g/mol, what are the empirical and molecular formulas for adipic 

     acid?
